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[P.U. BAl
dy  dx_gl

3—.
bax ay 3 [P.U. 63A]
E-Pa"zpmhx+1=o [Mithila 78A]
o.p2+p(2x‘y}"2xy=o

7.0+ 2xp - y'p-2xy° =0

.U. 638; R.U. 648]
8. pip* + W) = Px+Y) o

gpn,\3+3xyp+2y2=0 10.x+yp2=p{1+xy)
. ; )
11.yp2+lx—y)p—x=0 12.xyp2-(x2+y}p+xy 0
2 — - xy= [p_u,ms&mmthﬂa?’ﬁﬁl
18, 3yp® - & -y Ip-xy=0 s
14, xyp’+ p3x° - 2y°) - 6xy =0 (Bhag. 94H; R.U. 94H
®int: L.H.S. = (px - 2Y)(py + 3x)]
2
. 558]
el d = [P.U
w‘ldx} + y?d% 2+ Xy
2
I(XQ[%_%) - Wﬂdx = y2 [P.U. 50A]

2
17.12p2-2xyp+2y -x*=0 ‘
[Hints: Solving the equation as a quadratic in p. we get
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P= X T odx X
This is a homogeneous equation and hence we shall put y = vx.]
4 2
— L 2 _— }.,{ .'E.;_ — D lp.U. SQH]
lig.(l L +x2}3 2xp+x2
[Hints: The given equation reduces to
2 .
\ {

Yy _ 2[-!2 1 - Hf.
{p‘xJ‘” 2
which = (px - ylz = ngzi-}'z -__;;2)

= px-y=+pyVa? -y

= p(x+ _U\G?_—?} = y which is homogeneous.|

ANSWERS

L(y-3x-oy-4x-¢)=0 2. (y-3x-c)y-6x-0)=0

.(y-ax-oy-bx-0=0 4. By-x-c)y-3x-¢)=0

B.(y--c)y+e*-0)=0 6.(y+x2—c)(logy—x—c)=0

7 l+x+é{x2+ -c)=0
|y y-c)= 3-(y-—c]{2y-x2—c)(logy—x-c]=0|
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9. (xy- ) Py-¢c)=0 10. (2y - ¥ -o2x-y-o= 0
11 (y- x- )2+ 2 - A =0 12.(y- )’ -y - =0
18. (2 -2 -y -0 =0  14.{y-cd)y’+3xX -0 =0
15. 2y- X -c)y+x-1-¢ce™=0
16. {2 logy — (1 + V5)logx — cH2 logy — (1 - V5)logx—cl=0

e rEra

+ logcx 18. log Y
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17. sin_l—q
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